
Jharkhand Board Class 11 Maths Sample Paper-Set 2
CLASS-XI 

Subject-MATHEMATICS 
Total no. of questions - SO 

❖ All questions are compulsory.

❖ Each question carries equal marks.

❖ Weightage of each question is marks.

UNIT 

UNIT- I: 

TOPIC 

SETS AND FUNCTIONS 

(1) Sets

(2) Relations and Functions

(3) Trigonomen·ic Functions

ALGEBRA

( l) Complex Numbers and Quadratic Equation.

(2) Linear Inequalities.
u IT- II: (3) Permutations & Combinations.

( 4) Binomial Theorem and Mathematical
Induction
(5) Sequence and Series

CO-ORD INA TE GEOMETRY

(I) Straight Lines:
UNIT- Ill: 

(2) Conic Sections

(3) Introduction to Tlu·ee dimensional Geometry

CALCULUS
UNIT- IV: 

( 1) Limits and Derivatives

UNIT-V: 
Mathematical Reasoning

(1) Mathematical Reasoning

STATISTICS & PROBABILITY

UNIT- Vl: (1) STATISTICS 

(2) PROBABILITY
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4 
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6 

3 

4 

I 

4 
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I 
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TOTAL so 

Total marks - 100 

-
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Total 

% 

8% 

8% 14(2) = 28 

12% 
-

10% 

2% 

8% 19(2)= 38 

6% 

12% 
-

6% 

8% 8(2) )6

2% 

8% 4(2)= 8 
--

2% 1 (2)= 2 

·-

2% 

6% 
4(2)= 8 

-

100% 50(2)= 100 
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SET - II
(Class 111h) 

J1fi)1a (Mathematics)

I. Write the solution set of the equation x2 
.J_ x-2 = 0 in roster form.

fl9'45x01 x2 +x 2=0 '¢"T ������I

(A){l,-2} (B){-2,-1} (C){-1,3} (D){0,l}

2. lf A= {a, e, i, o. u} and B = {a, i, u} Then find AuB.

�A= {a, e, i, o. u} �B = {a, i, u} filAuB� � I

(A) {a, e, i, o, u} (B) {a. e, i, u} (C) {a, i, u} (D) {e, i, o, u} 

3. How many elements has P(A), If A= <J) 

P(A) cfi fcmR 3lcmcr t � A = <D

(A) 1 (B) o (C) 2 (D) 3

4. If A and B arc two sets such that n(A) =17. n(B) = 23 and n(A u B) =38, then find n(A r, 8)

� A 3ITT' B GT� xij'bi:lll � fcn n(A) =17. n(B) = 23 � n(Au 8)= 38 "ITT n(An 8) �
clR I

(A) 1 (B) 2 (C) 3 (D) 0
5. If(x+I. y-2)=(3, I) Find (x. y)

� (x+l,y-2)=(3,l)ffi(x. y)��I

(A) (2, 31 (B) (3, 2) (C) (0, 4> (D) (4. l>
6. If A= { I, 2}. B = {2. 3} and C = {3,4} then find Ax(BnC)

�A= {l. 2},B = {2, 3}� C = {3,4}ffi Ax(BnC)� � I

(A} {(2.3).(4.3)} (B) {(1.3). (2.3)} (C) {(2,2), (2,3)} (D) {(1,4), (2,4)}

7. A function/ is defined by f(x) = 2.x- 5 find/(0).

tp<R /{x) = 2.x - 5 � � t ill f (0) Wo � I

(A) -5 (B) 5 (C) 2 (D) -2
8. Find the domain of f(x) = ✓x-4 .

tp<R /(x)= ✓x-4cf;f ���I

(A)R-{4} (B) x�4 (C) x<4 (D) x�4
9. Express 75° in radian measure.

75° ml � B fmN1

(A) S.ir (B) !!_ (C) ,r (D) 1r 
12 16 4 2 
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1 O. If tan 0 = 2- and 0 lie in 3rd quadrant. Then find the value of sin 0-cos 0.
12 

11.

12.

13.

14. 

� tan0= 2- 3ITT 03rd
"CTT"G ll � "ITT sin0-cos0cfiT 1fA � cITTI

12 

(A) _!2. (B) J_ (C) .!3_ (D) g
25 13 13 5 

F. d h l f cos 20 + sin 20tn t e va ue o 
cos20-sin 20

1fA � � cos20+sin20 
cos 20-sin 20

(A) tan65 (B) tan55 (C) tan25

Find l + cos 20
sin2B 

�� 
I +cos20

sin 20

(A) cot0 (B) cot 20 0(C) cot-
2 

The general solution of lan3x = 1 is 
tan3x = 1 cfiT cifl1lcn -gB � I

7r (A) n1r +-
4 

(B) n1r +.!:..
3 12 

(C) 111r

(D) tan50

(D) tan 0

7r(D) mr±-
12 

Find the principal solution of the equal ion sin x = � .
2 

ft91cb�01 sin x = � cfiT � � � � I
2 

(A) 1r 51r (B) 31r -1r (C) n S1r (D) -n 5n-
6' 6 5' 6 3' 3 6' 6 

15.
(l+i)" I f  -. = 1 , then find the least position value of n.

I- I 

� (�)" = I ID m n cfiT � � 1fA � cfR I
I -1 

(A) -4 (B) 2 (C) -2 (D) 4
16. Find multiplicative inverse of I +; 

I+ i cfiT �OlltJicb �fac1'1i-i � � I

(A) 1 - i (B) 1 
- ; (C) 1 + i 
✓2 ✓2 

17 • Find the modulus of I+ i✓3

1 +i✓3 cfiT lfTCTTcp ffl � I

(D)�
✓2

(A) -3 (B) 2 (C) -2 (D) 3

18. lf 4x + i (3x - y) = 3 + i (-6) then find the value of x and y.

� 4x + i (3x -y) = 3 + i (-6) m x �� y cfiT 1fA W'ff � I

(A) 2. 33 (B) � � (C) 2 � (D) I 2
4 4 3' 33 4' 5 3 ' 5 
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19· Solve:x2 +2=0.
� �: x2 +2=0
(A) ±✓2.i (B) ±2i (C) +2i (D) -2i

20. Solve 5x - 3 < 3x +I, if x is an integer.
5x - 3 < 3x + 1 cpl � � � x � t !

(A) { ...... -1, 0. l} (B) { .. ..... -1. 0, 1, 2} (C) (-oo. 2) (D) (-002]

21. - I I x It I&+ ll = �
then find x.

� ..!..+..!..=.::. 'ITT xWo �I
l2 ll �

(A) 54 (B) 44 (C) 74 (D) 64
22. If nc1 = 360 then find value of n.

� n, =360 ID nWo �I
I 

(A) 360 (B) 180 (C) 36 (D) 63
23. Find the number of words can be formed with the letters of the word ··Bil lAR''

·'BIHAR''mG m- 3laRT � � mG � � !?

(A) 5 (B) 120 (C) 110 (D) 11
24. If 16c = 16, then find the value of r.

,. ,...,..2

� 16
( 

=16, 'ffircfiTllrlffl�I
r r+2 

(A) 2 (B) 3 (C) 7 (D) 5
25. Find the number of terms in the expansion of (I+ x )" .

n+l(A) n -1 (B) n (C) n + 1 (D) -2-

26. Find the rth term in the expansion of ( I + x )"
( 1 + x )" m- 'ITT1R # rcIT tfG Wo � I
(A) n< . x' (B) nc 

x•·• (C) nc 
x' (D) n, x'- 1 

1 r-1 r-1 r 

27· 
Find the middle term in the expansion of 

(� +�) 12 . 

a X 

(A) 12c
6 

(B) 12c (C) 12c (D) 12c
5 7 0 

28. Find the number of term in the AP 4 + 9 + 14 + ............. + 254. 

� wift AP4+9+ 14+ ............. +254# {lGl � � Wo �I
(A) 50 (B) 51 (C) 52 (D) 49
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29. Find the nth term of the AP whose sum ton terms is n2 + 4 .

� til-11-tl� � <ITT ncIT lR � � mcITT n qGT <ITT <WT n2 +4 ! I

(A) 2n - l (B) 2n + l (C) 2n (D) 2n - 2
30. Find the arithmetic mean between 4 and 10.

4 � 10 * ffi � fll-11-tt� 1,l'Ul � �I

(A) 7 (B) 6 (C) 5 (D) 8
31. If 7th term of a G.P. is 8 times the 4th term, find the common ratio of the G.P .

� 1JUm=R � cfiT 7cIT lR, 4cfl lR * 8 irurr ! fil 1JUllm � cfiT trm� � � I

(A) 2 (B) 3 (C) I (D) 4
32· How manyterm in theG.P. -1 +.!.+.!.+ ........... ..-243 .

27 9 3 
7T1'TTT-r=r.r .\.r.4+ I 1 I ,. � -A · A-----,...,,. � �-11\1\ ?tVII -+-+-+ ........... +243 i:; '-1GI Cf)I � ICflW1I l:> I

27 9 3 

(A) 8 (B) 9 (C) 7 (D) I 0
33. If a, a+ l, a+ 3 are in G.P. then find a.

� a,a+ 1,a+3TTI"ffi � 1l 'ITT fil a �I

(A) 0 (B) 2 (C) 1 (D) 3
34. If 3x- 4y + 7 = 0 and ax+ 9y + 1 = 0 are perpendicular then find ·a·.

� 3x-4y+ 7 = Oom ax+ 9y+ l = Olffi\'.R � ! fil ·a'�� I 

(A) 13 (B) 11 (C) 10 (D) 12
35. Find the equation of the straight line which passes through the point (5, 6) and whose

gradient is 2.

fflc1 fflT cfiT fl�cp�o1 � � v'lT � (5, 6) � l:il'Rft �{I'm�� 2 � 1

(A) y-6=2(x-5) (B) y-5=2(x-6) (C) y-6=2(x-6) (D) y-5=2(x-5)

36. Find the distance between the parallel lines ax by + c = 0 and ax +by+ d =O.

fll-11-tl� ffll3IT ax + by+ c = 0 Tim ax t-by + d =O * ffi � � mm � I

(A) d-c 

Joi + bi 
(B) d-c 

Jai -bi 

(C) d-c 

✓ab
(D) d-c

3 7. Find the co-ordinates of the centre of the circle x� + y1 
- 8x- 4 y = 5 .  

(A) (2,4) (B) (-2,4) (C) (4,2) (D) (4,-2).
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3 8. Find the focus of the parabola y2 
= -8x .

� i=-8xcplWffl�I

(A) (-2,0) (B) (2,0) (C) {0,2) (D) (0.-2)

39. 2 2 

Find the length of the major axis of the ellipse .::_ + L = 1 .
25 16 

� x2 

+ Y
2

=lm��c#t���I
25 16 

(A) l0 (B) 8 (C) 9 (D) 20
40. Find the equation to the hyperbola referred to its axes as co-ordinate axes whose

transverse and conjuget axes are respectively 3 and 4

3TaTT cpl Pflll9cfilef � '3""ff Jlfaq�qclll Q)T flf.J�cfi�OI ffl � � � ciQ.TT �

3laf �: 3 3ITT 4 t I
.
(A) 16x2+9y2 =36 (B) 16x2 -9y2 =36 (C) 16x2 =y (D) x=l6y2 

41. Find the distance between the points (I, -2, 3) and (-4, l , -2).
� (L -2, 3) � � (-4, l, -2) m � c#l � ffl � I
(A) 592 (B) 59 (C) ✓59 (D) 60

42. E l 
Lim (x+l)5 -Iva uate 

x➔O x 

ffl � 
Limit (x+l)5 -l
x➔O x 

(A) 5 (B) -5 (C) 4 (D) -4

43. Find(��) Lim ax+x cosx
x ➔ 0 bsinx 

(A) a+ 1 
b 

(B) a-1
b 

(C) b+ 1 (D) b-1

44.
Iff(x) = ax2 +bx+cthen find / 1 (1). 
�f(x) = ax2+bx+c'ITT /'(I) ffl �I 
(A) a+ 2b (B) 2a -b (C) a -2b (D) 2a + b

45- Find the derivative of ( sin x )"
(sinx)"cfil Jlclch<'lvl ffl � I
(A) ncosn-t x sinx (B) nsinn+i x cosx (C) ncosn+i x sinx (D) nsinn· 1 x. cosx

46· If P(A) = �, write the odds in favour of the event A.9 

� P<A>=* m tfc1T A cpl� fi�1i11:1q1a � 

(A) 2 : 3 (B) 3 : 2 (C) 4 : 5 (D) 5 : 4
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47· If P(A)= 3_ ,P(B)=� and P(AvB)=�. Then find P(AnB).
3 9 5 

� P(A)== 3_ ,P(B)=� � P(AvB)==�ffl P(AnB)�I
3 9 5 

(A) 45
14

(B) � 45 
(C) _!. 5 

(D) _!i45 
48. 3 cards are drawn out of 52 playing cards. The probability of drawing three queen� is­

om ct 52 lfflT 1l � 3 tffi � vITTf t I � ct ffi ffi "mT �lftlcnai � -

(A) 3c, (B) � (C) 4c1 (D) _!_ 
52c� 52c

3
52c

3 
13 

49. If mean of 100 terms in 50 then find the sum or all the terms.

(A) 5000 (B) 500 (C) 50 (D) 50000
50. Write the biconditionals of the statements in S)rnbols.

P : x is an integer; 

Q : x is a natural number. 

Wli� m �'{1�R,�ca � -q �,

P:x'Cfcl>��I 

Q:xzel,�fWTT!i 

(A) P ¢::> Q (B) P ⇒ Q (C) Pv Q (D) P I\Q 
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ANSWER SHEET OF SET - II 

1 A 26 B 

2 A 27 A 

3 A 28 B 

4 B 29 A 

5 A 30 A 

6 B 31 A 

7 A 32 8 

8 B 33 C 

9 A 34 D 

10 B 35 A 

11 A 36 A 

12 A 37 C 

13 B 38 A 

14 A 39 A 

15 D 40 B 

16 B 41 C 

17 B 42 A 

18 A 43 A 

19 A 44 D 

20 A 45 D 

21 D 46 C 

22 A 47 D 

23 B 48 C 

24 C 49 A 

25 C 50 A 
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